Group 1

@ - Group 1 elements all react with oxygen to form the metal oxide.

Sodium + oxygen > sodium oxide

L(NO\@) + Oz@) - ZNQZO(5>

- Lithium, sodium and potassium all react with water to form the metal

hydroxide and hydrogen gas. However, the metals become more reactive

down the group so the reaction becomes more violent

Metal Observation
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Explanation

All group 1 elements lose their outer electron when the react. As you go down
the group it is easier for them to lose this electron because

Li

- The electron is farther from the nucleus
- There are more shells between the nucleus and outer electrons
(shielding)

- Together, these mean the attraction between the electron and the
nucleus is weaker
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